>

PLANETARY GEARHEADS

Low Starting Torque
K series

1TENHZE I B2 HE K235

100%

Made in Taiwan

www.sesamemotor.com




01

PLANETARY GEARHEADS

Low Starting Torque K Series

Cc9
= L4 L6 L8 c8 -
g o ol c10 i
ot
= I j——— B,
= g | 8 4
Sl 8 L 4
=
S ol | |pe—
I~ [of]
L2 8 X Cc4
S
Specifications 1§ Unit: mm
D'"‘,%’LIS'O“S PHFK42 PHFK42A PHFK60 PHFK90 PHFK115 PHFK142 PHFK200
D1H7 12 12 20 315 40 50 80
D2 20 20 315 50 63 80 125
D3 h7 28 30 40 63 80 100 160
D4 h7 47 52 64 90 110 140 200
D5 67 67 79 109 135 168 233
D6 M3x0.5P M3x0.5P M5x0.8P M6x1.0P M6x1.0P M8x1.25P M10x1.5P
D7 72 72 86 118 145 179 247
D8 H7 3 3 5 6 6 8 10
D9 34 34 45 5.5 55 6.6 9
D10 60 60 70 95 120 152 212
D11 46.2 51.2 63.2 89.2 109.2 139.2 199.2
L1 4 4 8 12 12 12 12
L2 6 6 7.2 12 135 16 225
13 3 15 3 6 6 6 8
L4 195 19.5 195 30 29 38 50
L5 7 6.5 7 10 10 14.6 15
L6 4 4 4 7 8 10 12
L7 5 5 7.7 10 12 17
L8 25 327 375 36.5 54.5 65 92
L9 4 4 6 7 7 10
1?2 46 46 70 90 115 145 200
2?2 M4x0.7P M4x0.7P M5x0.8P M6x1.0P M8x1.25P M8x1.25P | MI2x1.75P
2 <8/<11 <8/<11 £14/<19 <19/<24 | £24/<32/<38 <35/<38 <50
c4°? 286 286 36.5 412 51.1 69.7 81
C5 26 30 30 50 70 95 110 114.3
62 41 41 4 6.7 6 8.5 6
G 42 42 60 90 115 140 180
c8? 17 17 19 255 30 38 40
c9? 75.3 83 925 107 1315 1715 215
C102 74 7.4 9 11.3 13.9 17.8 21
oD 56x2 56x2 66x2 90x3 110x3 145x3 200x5

*2. C1~C10 are motor specific dimensions (metric std shown), sizes may vary according to motor flange. Specifications subject to change without notice.
*2.C1~Cl10 BARMREFFERRRT - FRAMERNFERE - ZAT AR H L EBIBRS

2 I A x

a=1Taxa

BE LTS -




c9
& L4 L6 L8 cs
S —ial, L Eﬂ c1o
L9 = )
—F 0. &) | O
b I= &8 R
EEERE —F ) r &
88| 8 g| 8 © 3 I . S
+-{- 0 i
8 L 1
T o (o]
L2 8 X é Cc4
) X
Specifications 1§

Pimensions PHFK42 PHFK42A PHFK60 PHFK90
D1u7 12 12 20 315
D2 20 20 315 50
D3 h7 28 30 40 63
D4 h7 47 52 64 <)
DS 67 67 79 109
D6 M3x0.5P M3x0.5P M5x0.8P M6x1.0P
D7 72 72 86 118
D8H7 3 3 5 6
D9 34 34 45 5.5
D10 60 60 70 95
D11 46.2 51.2 63.2 89.2
L1 4 4 3 12
L2 6 6 72 12
L3 3 3 3 6
L4 195 195 195 30
L5 7 7 7 10
L6 4 4 4 7
L7 5 5 77
L8 54.5 622 725 815
L9 4 4 6
g 46 46 70 90
2?2 M4x0.7P M4x0.7P M5x0.8P M6x1.0P
c3? <8/<11 <8/<11 <14/19 <19/<24
ca? 2856 286 365 412
C5 26 30 30 50 70
c62 41 41 4 6.7
a2 42 42 60 90
c8? 17 17 19 255
c9? 103 110.7 1275 151.1
C10 2 74 74 9 113
oD 56x2 56x2 66x2 90x3

*2.C1~C10 are motor specific dimensions (metric std shown), sizes may vary according to motor flange. Specifications subject to change without notice.

*2.C1~Cl0 BARREFFERRRT - BRAMERNFERTE - XATBEIHH L LEBRIBE

IR MER TS -

02



K PLANETARY GEARHEADS

Low Starting Torque K Series

PHFK pouble Stage Dims. -2 &EIMNER~T[H-2

c9
. L4 L6 L8 cs
8 =
=~ Cc10
Zzz
L9
= q A
o - = D ] I 3 P
~ o] % =| &|a| EF-L LS5
Q| ol o ol ala E . . | (&)
B 8§ Y § 8 Y | A
= 0
Lz » -
©
8 H c6
N c4
E551)7¢ X
L2 2
Q|

oD

ecifications 1§ Unit: mm

Dimensions R~f PHFK60T PHFK90T PHFK115T PHFK142T PHFK200T

D1H7 20 315 40 50 80

D2 315 50 63 80 125
D3 h7 40 63 80 100 160
D4 h7 64 90 110 140 200
D5 79 109 135 168 233
D6 M5x0.8P M6x1.0P M6x1.0P M8x1.25P M10x1.5P
D7 86 118 145 179 247
D817 5 6 6 8 10
D9 4.5 55 55 6.6 9
D10 70 95 120 152 212
D11 63.2 89.2 109.2 139.2 199.2
L1 8 12 12 12 12

L2 7.2 12 13,5 16 225
L3 3 6 6 6 8

L4 19.5 30 29 38 50

L5 7 10 10 14.6 15

L6 4 7 8 10 12

L7 7.7 8 10 12 17

L8 65.2 69.5 93.5 110 1617
L9 6 7 7 7 10
Cil 2 46 70 90 115 145
22 M4x0.7P M5x0.8P M6x1.0P M8x1.25P M8x1.25P
32 <8/<11 <14/£19 <19/<24 <24/£32/<38 <35/<38
42 28.6 36.5 41.2 51.1 69.7
C52¢¢ 30 50 70 95 110
62 41 4 6.7 6 8.5
Cy2 42 60 90 115 140
8?2 17 19 25.5 30 38
9?2 113.7 138 163.1 198 281
C10 2 7.4 9 113 13.9 17.8
oD 66x2 90x3 110x3 145x3 200x5

*2.C1~C10 are motor specific dimensions (metric std shown), sizes may vary according to motor flange. Specification subject to change without notice.
03 *2.C1~Cl0 BRARREFBFERRRY - FRAMEANFERTE - AATDARIHHMU EEBREETRAEEALKTEM -



<,
&~ SESAME

PHFK Flange Dims. @ @R~ &

PHFK60
PHFK90

PHFK42
PHFK42A

5 1xD87 2 1xD8 17

PHFK142
PHFK200

Specifications #R1%& Unit: mm

Dim;”;bns PHFK42 PHFK42A PHFK60 PHFK90 PHFK115 PHFK142 PHFK200
D1H7 12 12 20 315 40 50 80
D2 20 20 315 50 63 80 125
D3h7 28 30 40 63 80 100 160
D4 h7 47 52 64 90 110 140 200
D5 67 67 79 109 135 168 233
D6 M3x0.5P M3x0.5P M5x0.8P M6x1.0P M6x1.0P M8x1.25P M10x1.5P
D8H7 3 3 5 6 6 8 10
D9 34 34 45 55 55 6.6 9

* Specifications subject to change without notice. ZAT AR H I FBUIBRBETREEEARLTEM -

04



05

&
X

SESAME

PHFK specs. Table #aem15 1t %

Specifications 3% Sgt,ﬁagf 5;5?;; PFI’-||-:=T<|§1422A PHFK60  PHFK90  PHFK115  PHFK142  PHFK200
3 = 40 105 180 340 580
4 16 43 110 240 500 1100
1 5 17 50 130 290 600 1200
7 14 44 125 270 530 1100
10 11 37 95 220 430 900
Sgtﬁaggle ;J;‘;'fb e PHFK6O(M)  PHFK9(T)  PHFKIIST  PHFKI42T  PHFK200T
15 - 40 105 180 600 1200
Nominal Output Torque Ton Nem 20 16 43 110 240 600 1200
REMLNE 25 17 50 130 290 600 1200
30 17 50 130 290 600 1200
2 35 17 50 130 290 600 1200
40 17 50 130 290 600 1200
50 17 50 130 290 600 1200
70 14 44 125 270 530 1100
100 1 37 95 220 430 900
Emergency Stop Torque Tanot | njw - 3.0 times of Nominal Output Torque 3.0f5%8E &L 1%
=& (*EAR#EIH N Max. Output Torque Ts=60% of Emergency Stop Torque)
Starting Torque NET 1 3-10 0.05 0.09 03 0.6 16 42
BE R 2 12-100 0.05 0.09 0.25 0.3 0.55 14
Nom'%;'gg“/\t%g;ed M rpm 12 3-100 5000 5000 4000 4000 3000 3000
e ;Ezgé’;ﬁsj\)g%mmax rpm 12 | 3-100 10000 10000 8000 8000 6000 5000
Micro Backlash PO . 1 3-10 <2 <2 £2 <1 <1 <1
BETER — 2 12-100 <4 <4 <4 <3 <3 <3
Precision Backlash P1 R 1 3-10 =4 =4 =4 =B =B =B
BEER 2 12-100 <6 <6 <6 =5 £5 =15
Standarq Backlash P2 et il 3-10 £8 =8 =8 =5 =5 =5
RESR 2 12-100 <10 <10 <10 Vi s7 S7
Tors o ity 1 12| 3100 6 12 30 80 150 450
LACHE Begg%’é&%g“ Mag®™ | N.om 12 | 3-100 37 110 250 435 1170 2360
Max. A2 et i N 12 | 3-100 870 1200 2500 3380 8000 10050
Operating Temp. EFRE °C 3-100 -10°C ~+90°C
Service Life S hr 3-100 30,000 (15,000/ Continuous Operation 3@4&E# )
Efficiency % 1 3-10 297%
PUES 2 12-100 294%
Weight K 1 3-10 0.7 15 33 6.2 13.6 321
e 9 2 12-100 11 23/1.8 6.0/4.1 8.1 17.9 38.6
Mounting Position 223 75[a] - 1,2 3-100 Any Direction EE 510
Noise Level ? 183=1& dBA/1m L2 3-100 56 58 60 63 65 67
Protection Class BhiEZ4k - 12 3-100 IP54
Lubrication &8 - 12 3-100 Synthetic Lubricant =& BB HAE
Inertia (J1) Bl ESIES
Stage E1%! Ratio JBi3REE unit 8111 PHFK42(A) PHFK60 PHFK90 PHFK115 PHFK142 PHFK200
3 = 0.19 072 235 9.05 29.80
4 0.02 018 067 166 717 25.86
il 5 0.02 0.17 065 1.50 6.52 2363
7 0.02 0.14 0.60 145 6.17 2292
10 Kg e+ cm? 0.02 014 058 141 6.10 2273
Stage &%l Ratio @i #REL PHFK42(A)  PHFK60(T) PHFK90(T) PHFK115T PHFK142T  PHFK200T
15/20 0.02 0.17(0.02) 0.65(0.17) 065 235 9.05
2 25/30/35/40 0.02 0.14(0.02) 0.60(0.14) 0.60 145 6.17
50/70/100 0.02 0.14(0.02) 0.58(0.14) 0.58 141 6.10
* 1. Applied to the output shaft center @100rpm. #iH#E 3100 rpmfs - EFRE Lah P OIS -
* 2. Measured at 3000 rpm with no load. These values are measured by gearbox with ratio = 10 (1-stage) or ratio = 100 (2-stage) at nominal input speed or
3000 rpm (If nominal input speed is higher than 3000 rpm) with no load. 3000 rpmZE &£ 8 -
X The above figures/specifications are subject to change without prior notice. /AT AEE I EEIBRIBEITRETEERLTSH -

Products due to human error, natural disasters or other factors lead to poor or damaged, will not be covered under warranty.
ERAARRRAS AKX ERRERARNER  FEREBEBA -




PLANETARY GEARHEADS

Low Starting Torque K Series

20T ) ol L11 ?f
o
o = i O
1
B | 1|
%'— L7 =
2 L8 cs8
L6 L5 co [ PULK60/PULK75/PULK100
B Lo,
T g = i - | ;g:
[Crg SRS [ NNk P
o= : M5 5 Y,
oo . ¢ L4g L7 Cc4 8
Specifications 1§  unitmm s | ca
Dimensions R PULK60 PULK75 PULK100 PULK140 PULK180
D1 68 85 120 165 215
D2 5.5 6.8 9 11 13
D3he 16 22 32 40 55
D4 g6 60 70 90 130 160
D5 344 464 59.6 79.2 945
D6 M5x0.8P M8x1.25P M12x1.75P M16x2.0P M20x2.5P
D7 80 100 138 186 239
L1 62 76 105 142 180
L2 485 56 88 112 112
E 185 18 28 27 27
L4 15 2 2 3 3
L5 25 32 40 60 70
L6 2 5 5 6
L7 6 10 12 15
L8 325 56 46 715 92
L9 4 45 6 6 8
L10 16.5 20,5 30 38 48
L11 355 40.5 418 62.8 74
c1? 70 90 115 165 200
@K M5x0.8P M6x1.0P MB8x1.25P M10x1.5P M12x1.75P
c3?2 <14/£19 £19/<24 £24/<32/<38 <35/<38 <50
c4? 37 47.8 51 66.5 81
C5 26 50 70 95 130 1143
C6°? 4 6 6 55 6
c7? 60 90 115 140 180
c8? 46 55 58 80 93
C9? 127 167 192 2635 297
B 5 6 10 12 16
H 18 245 35 43 59

*2. C1~C9 are motor specific dimensions (metric std shown), sizes may vary according to motor flange. Specifications subject to change without notice.
*2.C1~CO BRHREBFEERMRYT  BRAMEANSFERE - AR AEHH U LHBRBETRIEELTLITEN -




PLANETARY GEARHEADS

Low Starting Torque K Series

K

PULK pouble Stage Dims.-1 £EMUR~TE-1

D7 @D2
B _
) 2|88]
= RS
s 4e @D1
oL
B L6, L5 2
oo ¢
T /A 8 © —AER T
. L9 e LT S|
L10 H S = 8‘
L4 c4 o
L3 L7
L2 L8 cs
ecifications #R1& Unit: mm
Dimensions Rt PULK60 PULK60T PULK75 PULK75T PULK100T
D1 68 85 120
D2 55 6.8 9
D3 he 16 22 32
D4 g6 60 70 9
D5 344 464 59.6
D6 M5x0.8P M8x1.25P M12x1.75P
D7 80 100 138
L1 62 76 105
L2 485 56 88
L3 185 18 28
L4 15 2 2
L5 25 32 40
L6 2 2 5
L7 6 7 10
L8 65.5 61 % 88.5 88.5
L9 4 45 6
L10 165 20.5 30
L11 355 29 405 355 40.5
c1? 70 46 90 70 90
2° M5x0.8P M4x0.7P M6x1.0P M5x0.8P M6x1.0P
c3? <14/<19 <8/<14 <19/<24 <14/<19 <19/<24
c4? 37 27 47.8 37 47.8
C5°%¢6 50 30 70 50 70
C6? 4 4 6 4 6
&2 60 426 90 60 9
c8? 46 385 55 46 55
c9° 160 148 207 1905 2315
B 5 6 10
H 18 245 35

*2. C1~C9 are motor specific dimensions (metric std shown), sizes may vary according to motor flange. Specifications subject to change without notice.
*2.C1~C9 BARTEFEFRMRY - BIKFMERNFERE - ARTARHH U LBIBRBRETRFEERLTEM -

07



&

»D2

@D1

Specifications 1§

@ D4 g6

h6é

3

@D5
@D

L8

Dimensions R PULK140T PULK180T
D1 165 215
D2 11 13
D316 40 55
D4 g6 130 160
D5 79.2 945
D6 M16x2.0P M20x2.5P
D7 186 239
L1 142 180
L2 112 112
L3 27 27
L4 3 3
L5 60 70
L6 5 6
L7 12 15
L8 121 160.2
L9 6 8
L10 38 48
L11 418 726
G182 130 130
2?2 M8x1.25P M8x1.25P
c3? <24/=32/<38| <35/<38
c4? 51 66.7
C52 6 110 110
C6 2 6 55
&8 115 140
cs8? 58 89.8
c9? 291 362

B 12 16
H 43 59

*2. C1~C9 are motor specific dimensions (metric std shown), sizes may vary according to motor flange. Specifications subject to change without notice.
*2.C1~CO BRBREFEEENRY - FRFTEANFERTE - AATAERHEN EBIBREET

@ Cbks

1]

@C3

TRE TS -



<,
&~ SESAME

®

PULK specs. Table #8153t %

L Stage Ratio
Specifications #1& e L PULK60 PULK75 PULK100 PULK140 PULK180
3 53 145 180 340 580
4 55 150 240 500 1100
5 54 140 290 600 1200
6 46 135 280 560 1100
1 7 44 125 270 530 1100
8 41 110 240 480 1000
9 37 95 220 430 900
10 37 95 220 430 900
S;;gf iﬁigft PULK6O(T)  PULK75(T) PULKI0OT ~ PULKI40T  PULK180T
Nominal Output Torque Ton Nem 15 ) 145 130 520 580
BE@E e 20 55 150 240 600 1100
25 54 140 290 600 1200
30 54 140 290 600 1200
35 54 140 290 600 1200
40 54 140 290 600 1200
2 45 54 140 290 600 1200
50 54 140 290 600 1200
60 46 135 280 560 1200
70 44 125 270 530 1100
80 41 110 240 480 1000
90 37 95 220 430 900
100 37 95 220 430 900
Emergency Stop Torque Tanot | . 3.0 times of Nominal Output Torque 3.01Z 28 E &L H%E
S=h4E (*ERAHIE 71%E Max. Output Torque T2 =60% of Emergency Stop Torque)
Starting Torque Nom 1 3-10 0.12 0.4 0.75 2.0 5.0
= Eba)l 2 12-100 0.12 0.35 04 0.8 18
Nominal Input Speed N1y -
2EE 8 A\ B3R rpm 12 3-100 4000 3500 3000 2500 2500
Max. Input Speed Nimax R
BoAHA 2E rem 12 3-100 6000 6000 5000 4500 4500
Micro Backlash PO e 1 3-10 £2 £2 =1 =1 =il
BREEER 2 12-100 =4 =4 £3 £3 £3
Precision Backlash P1 S—_ 1 3-10 <4 =4 <3 =3 <3
=] 2 12-100 <6 <6 =5 =5 =5
Standard Backlash P2 = 1 3-10 <8 <8 S5 =35 =5
IREER 2 12-100 <10 =10 =¥ =7 =7
Torsional Rigidity Nem .
e P aremin 12 3-100 7 14 25 50 150
Max. Radial Load Frs* ) 1800 4800 6950 11000 21000
BHEEnNE R =
Max. Axial Load Fpas *
282l 7 N 12 3-100 1400 2950 4200 8500 13000
Operating Temp. ERERE 1 3-100 -10°C ~+90°C
Service Life EFE hr 3-100 30 000 (15 000/,Continuous Operation E/EE# )
Efficiency % 1 3-10 297%
i ’ 2 12-100 294%
Weight ) 1 3-10 15 35 6.6 145 308
B8 9 2 12-100 2.0/1.7 5.2/4.0 8.1 17.5 37.0
Mounting Position Z#<75@ - 12 3-100 Any Direction f£E 71
Noise Level ? [18&1E dBA/1Im 1,2 3-100 58 60 63 65 67
Protection Class [ 4k - 12 3-100 P54
Lubrication &8 - 1.2 3-100 Synthetic Lubricant & BB HAE
Inertia (J1) Rl iEHEENIEE
Stage &gl Ratio j@i#RtL unit 1 PULK60 PULK75 PULK100 PULK140 PULK180
3 0.23 097 235 10.00 30.50
4 0.18 0.67 1.66 717 25.86
il 5 0.17 0.65 1.50 6.52 23.63
6/7/8 0.14 0.60 145 6.17 22.92
9/10 Kg + cm? 0.14 058 141 6.10 2273
Stage Eigl Ratio j&3REE PULK60(T) PULK75(T) PULK100T PULK140T PULK180T
15/20 0.17(0.02) 0.65(0.17) 0.65 235 6.52
2 25/30/35/40 0.14(0.02) 0.60(0.14) 0.60 145 6.17
45/50/60/70/80/90/100 0.14(0.02) 0.58(0.14) 0.58 141 6.10
* 1. Applied to the output shaft center @100rpm. &iti#R100 rpmfs - fEFARE@ LB PO AIE -
* 2. Measured at 3000 rpm with no load. These values are measured by gearbox with ratio = 10 (1-stage) or ratio = 100 (2-stage) at nominal input speed or
3000 rpm (If nominal input speed is higher than 3000 rpm) with no load. 3000 rpmZE&; £ 8 -
X The above figures/specifications are subject to change without prior notice. AAT) AR EBHIBRRETRFTEB RIS -

Products due to human error, natural disasters or other factors lead to poor or damaged, will not be covered under warranty.
EaEARRESXKERRERARNIRR - FEREEEA -



PLANETARY GEARHEADS

Low Starting Torque K Series

©

o
| L7 C4
oL1 L2 | 18 cs
L6 L5 PKLH142/PKLH180 C9 | C6
- —-'1——1 L11
Sl — i n
= =1 o
L9 T o 8 4 _ St
~ o) L |] 111
& L3 !-_! L7 C4 | g
Specifications 1§  unit mm Sl b2 [ s | cs
Dimensions R~ PKLH42 PKLH60 PKLH90 PKLH115 PKLH142 PKLH180
D1 50 70 100 130 165 215
D2 34 5.5 6.5 8.5 10.5 13
D3 hs 13 16 22 32 40 55
D4 g6 35 50 80 110 130 160
D5 15 25 35 45 50 70
D6 M4x0.7P M5x0.8P M8x1.25P M12x1.75P M16x2.0P M20x2.5P
D7 56 80 118 148 186 239
L1 426 60 90 115 142 182
L2 26 37 48 63 91.5 100.5
L3 5.5 7 10 10 10 16
L4 1 1.5 15 3.5 2.5 25
L5 15 25 32 40 60 70
L6 2 2 5 5 6
L7 4 6 11 16 20
L8 283 37 46 57 75.5 94
L9 4 4 45 6 6 8
L10 14 16.5 20.5 30 38 48
L11 29 355 40.5 5338 62.8 70
@82 46 70 90 115 145 200
€22 M4x0.7P M5x0.8P M6x1.0P M8x1.25P M8x1.25P M12x1.75P
C3?2 <8/<14 <14/<19 <19/<24 <24/<32/<38 <35/<38 <50
C4°? 27 37 41 56.3 66.5 82
C52r6 30 50 70 95 110 1143
€62 4 4 6 10 5.5 10
C7? 426 60 90 115 140 180
c8? 385 46 55 75 80 95
9?2 92.8 120 149 195 247 289.5
B 5 5 6 10 12 16
H 15 18 245 35 43 59

*2.C1~C9 are motor specific dimensions (metric std shown), sizes may vary according to motor flange. Specifications subject to change without notice.

*2.C1~CO BRARTEFBFERMRY - BRMERNSERE - AR BEH B LBBREETRE

TEEALITEM -

10



K

11

PLANETARY GEARHEADS

Low Starting Torque K Series

PKLH pouble Stage Dims. &MU T E

c9
c6
%\ ) $D2 S
— 4
<| v|® r T P
Jadis—1— L8
[ap]
L] 3
[ 1
wl ca
oL L2 L8 C8
o co | PKLH60T/PKLHO0T/PKLH115T/PKLH142T/PKLH180T
L6, L5 8 c6 Eles
oS | —=H— = . @B =
g ,7,_ s, ] = — Cr iz OR) O (53
g2 | Bl g Ti= § i 3
L9 ol L J’__L“'@qs o | -
L10 L4 S A BL ¥
| — c4 |8 O G
13 | [T s‘ c2
L2 L8 cs
Specifications 1% Unit: mm
D'”‘E’L}”“ PKLH42 PKLH60 PKLH60T PKLH90 PKLHI0T PKLH115T | PKLH142T | PKLH180T
D1 50 70 100 130 165 215
D2 34 5.5 6.5 85 10.5 13
D3 he 13 16 22 32 40 55
D4 g6 35 50 80 110 130 160
D5 15 25 35 45 50 70
D6 M4x0.7P M5x0.8P M8xL.25P M12x175P | M16x20P | M20x2.5P
D7 56 80 118 148 186 239
L1 426 60 90 115 142 182
L2 26 37 48 63 915 100.5
L3 5.5 7 10 10 10 16
L4 1 15 15 35 25 25
L5 15 25 32 40 60 70
L6 2 3 5 5 6
L7 4 8 11 16 20
L8 553 70 65.5 90 785 99.5 1275 166
L9 4 4 45 6 6 8
L10 14 165 205 30 38 48
L11 29 355 29 405 355 405 418 62.8
12 46 70 46 90 70 90 115 145
€22 M4x0.7P M5x0.8P M4x0.7P M6x1.0P M5x0.8P M6x1.0P M8x125P | M8x1.25P
Cc32 <8/<14 <14/<19 <8/<14 <19/<24 <14/<19 <19/<24 <24/<32/<38 <35
c4? 27 37 27 41 37 41 56 66.5
C5 26 30 50 30 70 50 70 95 110
C6°? 4 4 4 6 4 6 10 5.5
c7? 426 60 426 90 60 90 115 140
8?2 385 46 38.5 55 46 55 63 80
€92 119.8 153 141 193 1725 2175 282 346.5
B 5 5 6 10 12 16
H 15 18 245 35 43 59

*2. C1~C9 are motor specific dimensions (metric std shown), sizes may vary according to motor flange. Specifications subject to change without notice.
*2.C1~C9 BARREFEFEMRY - BIKFTERNFERE - AR TARHH I EBIBRA,

2y s En

HIETAYE

HEE AT -




Ne

SESAME

®
ok
PKLH specs. Table a5 %
o Stage Ratio
Specifications #31% &% LD PKLH42 PKLH60 PKLH90 PKLH115 PKLH142 PKLH180
3 19 53 145 290 520 950
4 20 55 150 300 550 1000
5 17 54 140 290 600 1050
6 15 46 135 280 560 1000
7 14 44 125 270 530 960
1 8 12 41 110 240 480 900
9 11 37 95 220 430 800
10 11 37 95 220 430 800
Nominal Output Torque Ton Nem Stage Ratio PKLH60 / PKLH90 /
SE L gy SEREE PKLH42 PKLHG0T PKLH90T PKLH115T PKLH142T PKLH180T
15 19 53 145 290 520 950
20 20 55 150 300 550 1000
25 17 54 140 290 600 1050
30 17 54 140 290 600 1050
35 17 54 140 290 600 1050
40 17 54 140 290 600 1050
) 45 17 54 140 290 600 1050
50 17 54 140 290 600 1050
60 15 46 135 280 560 1000
70 14 44 125 270 530 960
80 12 41 110 240 480 900
90 11 37 95 220 430 300
100 11 37 95 220 430 800
Emergency Stop Torque Taonort e 3.0 times of Nominal Output Torque 3.0 Z8E &L E
=&k (&R A#IL %E Max. Output Torque T2s=60% of Emergency Stop Torque)
Starting Torque Nem 1 3-10 0.05 0.1 0.35 0.7 18 45
&g B 2 12-100 0.05 0.1 0.3 0.35 0.6 15
o sl Ny rpm 12 | 3-100 | 4000 4000 3000 3000 2500 2000
Max. Input lspegf;nlmax rpm 1,2 3-100 8000 8000 6000 6000 5000 4000
Micro Backlash PO . 1 3-10 <4 <4 <4 <3 £3 <3
BERER G 2 12-100 <6 <6 <6 <5 <5 <5
Precision Backlash P1 — 1 3-10 6 £6 £6 £5 =5 =5
=1 2 12-100 <8 <8 <8 <7 <7 <7
Standard Backlash P2 o—_— 1 3-10 =8 =8 £8 =7 <7 <7
AR 2 12-100 =10 =10 <10 =9 =9 <9
Torsional Rigidity Nem )
SR Jarcmin Cam S S0 25 6 12 23 50 145
Max. Radial Load Farg* N 12 3-100 640 1260 2230 4300 7140 11050
BT NIE '
o 1
ST LR LGP G N 12 | 3-100 410 600 1500 3310 4670 6460
Operating Temp. EFEE °C 3-100 -10°C ~+90°C
Service Life =S hr 3-100 20,000 (10,000/Continuous Operation E#& &)
1 3-10 297%
i Ay 9
Efficiency % 2 2 |12-100 294%
. - 1 3-10 0.6 13 35 7.8 16.1 27
e kg 2 12-100 0.9 20/16 5.6/3.9 9.5 19 34
Mounting Position Zz#75a - 1,2 3-100 Any Direction &7
Noise Level ? (2318 dBA/1Im 1,2 3-100 58 60 63 65 67 68
Protection Class BS54k - 12 3-100 P54
Lubrication &8 - 12 3-100 Synthetic Lubricant 2 & BB M5
Inertia (J1) jRiEEE)IEE
Stage &i%] Ratio @i ZREE unit 1 PKLH42 PKLH60 PKLH90 PKLH115 PKLH142 PKLH180
3 0.03 0.23 097 235 10.00 30.50
4 0.02 018 067 166 717 25.86
1 5 0.02 0.17 0.65 1.50 6.52 2363
6/7/8 0.02 0.14 0.60 145 6.17 2292
9/10 Kg « cm? 0.02 014 058 141 6.10 2273
Stage &) Ratio j@#EE PKLH42 PKLH60(T) PKLH90(T) PKLH115T PKLH142T PKLH180T
15/20/25 0.02 0.17(0.02) 0.65(0.17) 0.65 1.50 6.52
2 30/35/40 0.02 0.14(0.02) 0.60(0.14) 0.60 145 6.17
45/50/60/70/80/90/100 0.02 0.14(0.02) 0.58(0.14) 0.58 141 6.10

* 1. Applied to the output shaft center @100rpm. i8R 100 rpmfs - EARE LB OUE -
* 2. Measured at 3000 rpm with no load. These values are measured by gearbox with ratio = 10 (1-stage) or ratio = 100 (2-stage) at nominal input speed or

3000 rpm (If nominal input speed is higher than 3000 rpm) with no load. 3000 rpmZ=& &8 -
X The above figures/specifications are subject to change without prior notice. &K AZ A M _EEIBRIEETRABSEARLTEL -

Products due to human error natural disasters or other factors lead to poor or damaged will not be covered under warranty -

ERAARRAIAKSERRERARNEIR -

FERBEEER -



13

PLANETARY GEARHEADS

Low Starting Torque K Series

PKCH Single Stage Dims. EEERSMEUR

c9
(;; L12 L11
8 L7_=,i;—mr—_-:i: cé
. 1
SHEEE T“*
_— 1
L ]
L4 oof || 8
L3 Sl [Lc4
L2 L8 Cc8
PKCH155/PKCH205 - C9
D2 3 7 L1 6
A 5 : : R
=T
| I
ecifications 81§  Unit:mm ST LR
L2 L8 Cc8
Dimensions R~ PKCHS0 PKCH70 PKCH90 PKCH120 PKCH155 PKCH205
D1 44 62 80 108 140 184
D2 M4x0.7P M5x0.8P M6x1.0P M8x1.25P M10x1.5P M12x1.75P
D36 12 16 22 32 40 55
D4 gs 35 52 68 90 120 160
D5 15 25 35 45 50 70
D6 M4x0.7P M5x0.8P M8x1.25P M12x1.75P M16x2.0P M20x2.5P
D7 50 70 90 120 155 205
D8 - - 94.5 - - -
L2 245 36 445 60 89.5 96.5
L3 4 6 6.5 7 8 12
L4 1 15 15 35 25 25
L5 15 25 32 40 60 70
L6 2 2 3 5 5 6
L7 8 10 12 16 16 20
L8 29.8 38 495 60 775 98
L9 4 4 45 6 6 8
L10 12 165 205 30 38 48
L11 29 354 40.7 537 63 69.5
L12 - = 335 = - =
c1? 46 70 90 115 145 200
e M4x0.7P M5x0.8P M6x1.0P M8x1.25P M8x1.25P M12x1.75P
3’ <8/<11 <14/<19 £19/<24 £24/<32/<38 <35/<38 <50
ca’ 265 376 414 51.3 66.5 77
C5 2 30 50 70 95 110 1143
c6? 41 45 6 6 5.5 6
c7° 42 60 90 115 140 180
c8? 381 465 55.4 70 80 90
c9°? 924 120.5 1494 190 247 2845
B 4 5 6 10 12 16
H 135 18 245 35 43 59

*2. C1~C9 are motor specific dimensions (metric std shown), sizes may vary according to motor flange. Specifications subject to change without notice.
*2.C1~C9 BARREFEFERRYT - BIRFTERNSERE - AR STARHH I EBIBRL

BETRABERLTEA -




PKCH Double Stage Dims.-1 #E25 MR <HE-1

. c9
) L12 L11
(m)
. L7l_:" — 1.l ce
=] = -
S [ id
e I | R L
SRS ) b - S
I
D‘:L ™ -
L4 8 Cé
L3 S c4
L2 L8 cs8

Specifications 1§

Dimensions R~} PKCH50 PKCH70 PKCH90
D1 44 62 80
D2 M4x0.7P M5x0.8P M6x1.0P
D3 e 12 16 22
D4 g6 35 52 68
D5 15 25 35
D6 M4x0.7P M5x0.8P MB8x1.25P
D7 50 70 90
D8 - - 945
L2 245 36 445
L3 4 6 6.5
L4 1 15 15
L5 15 25 32
L6 2 2 3
L7 8 10 12
L8 56.8 71 935
L9 4 4 45
L10 12 16.5 20.5
L11 29 354 40.7
L12 - = 335
c1? 46 70 90
c2? M4x0.7P M5x0.8P M6x1.0P
c3? <8/<11 <14/£19 <19/<24
c4? 26.5 376 414
C5 %56 30 50 70
62 41 45 6
c7°? 42 60 9
c8? 381 46.5 554
c9? 1194 153.5 1934

B 4 5 6
H 1355 18 245

*2. C1~C9 are motor specific dimensions (metric std shown), sizes may vary according to motor flange. Specifications subject to change without notice.

*2.C1~C9 BARBEREBERRY - BRAMBEANFERE - AADFRH L BIBRBETRABERLTEM
14



. c9
& 112, L11
o | Ak | ce
= | _J'_
< Wy 5
38 T I= r;'ﬂ 8LL
SRS I -3
l 3
i 8
L4 @©
4 8 c4
L2 L8 cs
C9
2 L7, . L11
—IEI— L6 L5 = B I'—_ Ccé6
ji —_ wf E ﬂ‘d_ﬁ;-
1© = ST
. L9 ! —Jm
L10 Y c4l9
L3
L2 L8 cs
ecifications 1% Unit: mm
Dimensions R~ PKCH70T PKCHO0T PKCH120T PKCH155T PKCH205T
D1 62 80 108 140 184
D2 M5x0.8P M6x1.0P M8x1.25P M10x1.5P M12x1.75P
D3hs 16 22 32 40 55
D4 g6 52 68 90 120 160
D5 25 35 45 50 70
D6 M5x0.8P M8x1.25P M12x1.75P M16x2.0P M20x2.5P
D7 70 90 120 155 205
D8 - 94.5 - - =
L2 36 445 60 89.5 96.5
L3 6 6.5 7 8 12
L4 15 15 35 25 25
L5 25 32 40 60 70
L6 2 3 5 5 6
L7 10 12 16 16 20
L8 66.5 82 1025 129.5 170
L9 4 45 6 6 8
L10 16.5 205 30 38 48
L11 29 354 407 53.7 63
L12 - 335 : = =
c1? 46 70 90 115 145
22 M4x0.7P M5x0.8P M6x1.0P M8x1.25P M8x1.25P
c32 <8/<11 <14/<19 £19/224 <24/<32/<38 <35/238
ca? 265 376 414 513 66.5
C5 %56 30 50 70 95 110
62 41 45 6 6 5.5
c7? 42 60 90 115 140
c8? 381 46.5 55.4 70 80
c9? 140.6 173 217.9 289 3465
B 5 6 10 12 16
H 18 245 35 43 59

*2.C1~C9 are motor specific dimensions (metric std shown), sizes may vary according to motor flange. Specifications subject to change without notice.

*2.C1~C9 BREF

EBEBERRY - ARTERANFERTE - ARSI ERBREETRITE

EARLTEA

15



SESAME

®
ok
PKCH specs. Table a8t %
e Stage Ratio
Specifications #1& e R PKCH50 PKCH70 PKCH90 PKCH120 PKCH155 PKCH205
3 19 53 145 290 520 950
4 20 55 150 300 550 1000
5 17 54 140 290 600 1050
6 15 46 135 280 560 1000
7 14 44 125 270 530 960
1 8 12 41 110 240 480 900
9 11 37 95 220 430 800
10 11 37 95 220 430 800
Nominal Output Torque Ton Nem Stage Ratio
o s PKCH50 PKCH70 PKCH90 PKCH120T PKCH155T PKCH205T
HEH D BB | L M m
15 19 53 145 290 520 950
20 20 55 150 300 550 1000
25 17 54 140 290 600 1050
30 17 54 140 290 600 1050
35 17 54 140 290 600 1050
40 17 54 140 290 600 1050
2 45 17 54 140 290 600 1050
50 17 54 140 290 600 1050
60 15 46 135 280 560 1000
70 14 44 125 270 530 960
80 12 41 110 240 480 900
90 11 37 95 220 430 800
100 11 37 95 220 430 800
Emergency Stop Torque Tanot Nem 3.0 times of Nominal Output Torque 3.0f%BxE it S4B
== N (* &K A% Max. Output Torque Tog=60% of Emergency Stop Torque)
Starting Torque NET 1 3-10 0.05 0.1 0.35 0.7 18 45
=S ba) 2 12-100 0.05 0.1 0.3 0.35 0.6 15
Nomi”%'%%‘jt\g;%ed Nin rpm 1,2 3-100 4000 4000 3000 3000 2500 2500
RS L;;F;‘;;ﬁsﬁgggnlmax rpm 12 | 3-100 8000 8000 6000 6000 5000 4000
Precision Backlash P1 — 1 3-10 <6 =6 =6 5 5 <s5
BB AR 2 12-100 =8 =8 <8 S7 7 =7
Standard Backlash P2 p— 1 3-10 <8 <8 <8 <7 <7 <7
IR PR 2 12-100 <10 <10 <10 <9 <9 <9
Torsional Rigidity Nem }
BRI TR 12 3-100 25 6 12 23 50 145
H 1
Max.ggélﬂlﬁc;%d;m N 12 | 3-100 640 1260 2230 4300 7140 11050
H 1
Max. %X%ﬂg%a% Faap N 12 3-100 410 600 1500 3310 4670 6460
Operating Temp. EFEE °C 3-100 -10°C ~+90°C
Service Life fEAZE hr 3-100 20,000 (10,000/Continuous Operation E#& &)
Efficiency % 1 3-10 297%
BES ° 2 12-100 294%
Weight y 1 3-10 06 13 35 7.8 16.1 27
58 9 2 12-100 0.9 2.0/1.6 5.6/3.9 9.5 19 34
Mounting Position Z2&575[a) - 12 3-100 Any Direction £&7 1@
Noise Level ? [&5 dBA/1m 12 3-100 58 60 63 65 67 68
Protection Class FhiEE 4k - 12 3-100 1P54
Lubrication E& - 152, 3-100 Synthetic Lubricant 2& A58 HAE
Inertia (J1) jej k%NS 2
Stage &i%{ Ratio jg3kEL unit B8 PKCH50 PKCH70 PKCH90 PKCH120 PKCH155 PKCH205
3 0.03 023 097 235 10.00 30.50
4 0.02 0.18 0.67 1.66 717 25.86
1 5 0.02 0.17 0.65 1.50 6.52 23.63
6/7/8 0.02 0.14 0.60 145 6.17 22,92
9/10 Kg « cm? 0.02 0.14 0.58 141 6.10 2273
Stage &1 %] Ratio J&#REE PKCH50 PKCH70(T)  PKCH90(T)  PKCH120T PKCH155T PKCH205T
15/20/25 0.02 0.17(0.02) 0.65(0.17) 0.65 1.50 6.52
2 30/35/40 0.02 0.14(0.02) 0.60(0.14) 0.60 145 6.17
45/50/60/70/80/90/100 0.02 0.14(0.02) 0.58(0.14) 0.58 141 6.10

* 1. Applied to the output shaft center @100rpm. & #3100 rpmi - fEFRRE L/ OMIE -

* 2. Measured at 3000 rpm with no load. These values are measured by gearbox with ratio = 10 (1-stage) or ratio = 100 (2-stage) at nominal input speed or
3000 rpm (If nominal input speed is higher than 3000 rpm) with no load. 3000 rpmZE & -
% The above figures/specifications are subject to change without prior notice. &AA T AR F EIBRASIE TR S B ALITEH -

Products due to human error, natural disasters or other factors lead to poor or damaged, will not be covered under warranty.
ERAARRAZAKERRERARNBIR - FEREHER -

16



=
&~ SESAME

SESAME MOTOR CORP.

i ERKR D BRAT
BB EERE — 5995

599, Sec 1, Hemu Rd., Shengang, Taichung,
42953, Taiwan

TEL : +886-4-2561-0011

FAX : +886-4-2562-7766
www.sesamemotor.com
info@sesamemotor.com.tw

Skype Phone : sesame_motor

<t iHEHRERA>
Copyright © 2020 Sesame Motor Corp.
All rights reserved

Sesame Motor Corp.,
A Leading Brand in Gear Technology.

-




